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1. If the tangent at (1,7) to curve  touches the circle 

 then the value of c is

A. 185

B. 85

C. 95

D. 195

Answer: C

x2 = y − 6

x2 + y2 + 16x + 12y + c = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OAtFS5h16EJl


Watch Video Solution

2. Tangent and normal are drawn at P(16,16) on the parabola 

which intersect the axis of the parabola at A and B respectively. If C is the

centre of the circle through the points P,A and B and  then

the value of  is

A. 2

B. 3

C. 

D. 

Answer: A

Watch Video Solution

y2 = 16x

∠CPB = θ

tan θ

4
3

1

2

3. Two sets A and B are as under

A = |(a, b) ∈ R × R : |a − 5| < 1 and |b − 5 ∣ < 1}B = [(a, b) ∈ R × R

https://dl.doubtnut.com/l/_OAtFS5h16EJl
https://dl.doubtnut.com/l/_RutGOdvmczoi
https://dl.doubtnut.com/l/_UUjBNUSftZbl


(1)  (2)  (3) A sub B

B sub A`

A. 

B.  ( an empty set)

C. neither  nor 

D. 

Answer: A

Watch Video Solution

B ⊂ A A ⊂ B A ∩ B = ϕ(anemptyset)(4) ≠ ither

n or

A ⊂ B

A ∩ B = ϕ

A ⊂ B B ⊂ A

B ⊂ A

4. Tangents are drawn to the hyperbola  at the points P

and Q. If these tangents intersect at the point T(0,3) then the area (in sq

units) of  is

A. 

B. 

C. 

4x2 − y2 = 36

△ PTQ

54√3

60√3

36√3

https://dl.doubtnut.com/l/_UUjBNUSftZbl
https://dl.doubtnut.com/l/_ZEXXNnsC4B9p


D. 

Answer: D

Watch Video Solution

45√3

5. If a circle C, whose radius is 3, touches externally the circle,

 at the point ( 2,2) ,then the length of

intercept cut by this circle C, the x-axis is equal to 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 2x − 4y − 4 = 0

:

√5

2√3

3√2

2√5

https://dl.doubtnut.com/l/_ZEXXNnsC4B9p
https://dl.doubtnut.com/l/_Zm8Vw6zEuj6R
https://dl.doubtnut.com/l/_Ep5TKAjc6SG9


6. v20.1

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

2

2

3

1

9

1

3

7. The locus of the point of intersection of the lines,

 (k is any non-zero

real parameter), is:

A. A hyperbola with length of its transverse axis 

B. An ellipse with length of its major axis 

C. An eliipse whose eccentricity 

√2x − y + 4√2k = 0  and √2kx + ky − 4√2 = 0

8√2

8√2

1

√3

https://dl.doubtnut.com/l/_Ep5TKAjc6SG9
https://dl.doubtnut.com/l/_e9A1ZI8PjQYa


D. A hyperbola whose eccentricity is 

Answer: A

Watch Video Solution

√3

8. The radius of a circle, having minimum area, which touches the curve

and the lines y=|x|, is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

y = 4 − x2

4(√2 + 1)

2(√2 + 1)

2(√2 − 1)

4(√2 − 1)

https://dl.doubtnut.com/l/_e9A1ZI8PjQYa
https://dl.doubtnut.com/l/_EYuFxhplv2bZ


9. A hyperbola passes through the point 
 and has foci at 


 Then the tangent to this hyperbola at 
 also passes through

the point :
 
(2) 
(3) 
(4) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P(√2, √3)

( ± 2, 0). P

(√3, √2) ( − √2, − √3) (3√2, 2√3) (2√2, 3√3

( − √2, − √3)

(3√2, 2√3)

(2√2, 3√3)

(√2, √3)

10. Let , the set of complex numbers. Thenthe equation, 

 represents :

A. a circle with radius .

B. a circle with diameter .

z ∈ C

2|z + 3i| − |z − i| = 0

8

3

10

3

https://dl.doubtnut.com/l/_HYAHzO2StGwC
https://dl.doubtnut.com/l/_Tficp2z9Pac3


C. an ellipse with length of major axis .

D. an ellipse with length of minor axis 

Answer: A

Watch Video Solution

16

3

16

9

11. If a point P has co-ordinates  is any point on the circle

 then the maximum value of  is : (a)

 (b)  (c)  (d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, − 2) and Q

x2 + y2 − 5x − y + 5 = 0, (PQ)2

25 + √6

2
14 + 5√3

47 + 10√6

2
8 + 5√3

25 + √6

2

14 + 5√3

47 + 10√6

2

8 + 5√3

https://dl.doubtnut.com/l/_Tficp2z9Pac3
https://dl.doubtnut.com/l/_T8hJo0c06HQP


12. If two parallel chords of a circle, having diameter 4 units, lie on the

opposite sides of the centreand subtend angles

 at the centre respectively, then the distance

betweenthese chords, is: (a)  (b)  (c)  (d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1( ) and sec− 1(7)
1

7
4

√7

8

√7

8

7

16

7

4

√7
8

√7
8

7

16

7

13. If the common tangents to the parabola  and the circle 

 intersectat the point P, then the distance of P from the

origin, is.

x2 = 4y

x2 + y2 = 4

https://dl.doubtnut.com/l/_T8hJo0c06HQP
https://dl.doubtnut.com/l/_10wakSsQNOgz
https://dl.doubtnut.com/l/_lFK4SkuK769h


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√2 + 1

2(3 + 2√2)

2(√2 + 1)

3 + 2√2

14. Consider an ellipse, whose centre is at the origin and its major axis is

along the x-axis. If its eccentricity is and the distance between its foci is

6, then the area (in sq, units) of the quadrilateral inscribed in the ellipse,

with the vertices as the vertices of the ellipse, is :

A. 8

B. 32

C. 80

D. 40

3

5

https://dl.doubtnut.com/l/_lFK4SkuK769h
https://dl.doubtnut.com/l/_qbNiCS6oAt1M


Answer: D

Watch Video Solution

15. The locus of the point of intersection of thestraight lines

, is

A. an ellipse with eccentricity 

B. an ellipse with the length of major axis 6

C. a hyperbola with eccentricity 

D. a hyperbola with the length of conjugate axis 3

Answer: D

Watch Video Solution

tx − 2y − 3t = 0, x − 2ty + 3 = 0(t ∈ R

2

√5

√5

16. If one of the diameters of the circle, given by the equation,


 , is a chord of a circle S, whose centre is at x2 + y2 − 4x + 6y − 12 = 0

https://dl.doubtnut.com/l/_qbNiCS6oAt1M
https://dl.doubtnut.com/l/_50ostm8CW4jK
https://dl.doubtnut.com/l/_aqj3wedxKXE8



, then the radius of S is :
(1) 
(2) 
(3) 5
(4) 10

A. 5

B. 10

C. 

D. 

Answer: D

Watch Video Solution

( − 3, 2) 5√2 5√3

5√2

5√3

17. Let P be the
 point on the parabola, 
 which is at a minimum

distance
 from the centre C of the
 circle, 
 Then the

equation of the circle, passing through C and having its centre at P is :
(1)


 (2) 
 (3) 


(4) 

A. 

B. 

y2 = 8x

x2 + (y + 6)2 = 1.

x2 + y2 − 4x + 8y + 12 = 0 x2 + y2 − x + 4y − 12 = 0

x2 + y2 − + 2y − 24 = 0
x

4
x2 + y2 − 4x + 9y + 18 = 0

x2 + y2 − + 2y − 24 = 0
x

4

x2 + y2 − 4x + 9y + 18 = 0

https://dl.doubtnut.com/l/_aqj3wedxKXE8
https://dl.doubtnut.com/l/_2Fedriu12Tzx


C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 4x + 8y + 12 = 0

x2 + y2 − x + 4y − 12 = 0

18. The eccentricity of the hyperbola whose length of the latus rectum is

equal to 8 and the length of its conjugate axis is equal to half of the

distance between its foci, is :
(1) 
(2) 
(3) 
(4) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4
3

4

√3

2

√3
√3

2√3

√3

4
3

4

√3

https://dl.doubtnut.com/l/_2Fedriu12Tzx
https://dl.doubtnut.com/l/_hsrfMrocIre7


19. A circle passes through  and touches y-axis at  Which

one of following equations can represents diameter of the circle? 1)

 2)  3)  4) 

A. 2x - 3y + 10 = 0

B. 3x + 4y - 3 = 0

C. 4x + 5y - 6 = 0

D. 5x + 2y + 4 = 0

Answer: A

Watch Video Solution

( − 2, 4) (0, 2).

4x + 5y − 6 = 0 2x − 3y + 10 = 0 3x + 4y − 3 = 0

5x + 2y + 4 = 0

20. If the tangent at a point on the ellipse  meets the

coordinate axes at  and  and the origin, then the minimum area (in

sq. units) of the triangle  is:

+ = 1
x2

27

y2

3

A B,

OAB

https://dl.doubtnut.com/l/_hsrfMrocIre7
https://dl.doubtnut.com/l/_d3qqTwc2iPhA
https://dl.doubtnut.com/l/_NFUdxsNBUCVv


A. 

B. 

C. 9

D. 

Answer: C

Watch Video Solution

3√3

9

2

9

√3

21. Let a and b respectively be the semi-transverse and semi-conjugate

axes of a hyperbola whose eccentricity satisfies the equation

. If  is a focus and  is the corresponding

directrix of this hyperbola, then  is equal to

A. -7

B. -5

C. 5

D. 7

9e2 − 18e + 5 = 0 S(5, 0) 5x = 9

a2 − b2

https://dl.doubtnut.com/l/_NFUdxsNBUCVv
https://dl.doubtnut.com/l/_W1PzI0UXpu8p


Answer: A

Watch Video Solution

22. Locus
 of the image of the point (2, 3) in the line


 , is a : (1)
straight line parallel

to x-axis.
 (2) straight line parallel to y-axis (3)
circle of radius 
 (4) circle

of
radius 

A. circle of radius .

B. circle of radius .

C. straight line parallel to x-axis

D. straight line parallel to y-axis

Answer: A

Watch Video Solution

(2x − 3y + 4) + k(x − 2y + 3) = 0, kεR

√2

√3

√2

√3

https://dl.doubtnut.com/l/_W1PzI0UXpu8p
https://dl.doubtnut.com/l/_yl7wYnZqiv3O


23. The number of common tangents to the circles

 and , is

A. 3

B. 4

C. 1

D. 2

Answer: A

Watch Video Solution

x2 + y2 − 4x − 6y − 12 = 0 x2 + y2 + 6x + 18y + 26 = 0

24. Let O
 be the vertex and Q be any point on the parabola, 
 . It

the point P divides the line segment OQ internally in the ratio 1 : 3, then

the locus of P is : (1) 
(2)
 
(3)
 
(4)


A. 

B. 

x2 = 8y

x2 = y y2 = x y2 = 2x x2 = 2y

y2 = 2

x2 = 2Y

https://dl.doubtnut.com/l/_RBIwqnXxmWbD
https://dl.doubtnut.com/l/_qvybEkF1GEpF


C. 

D. 

Answer: B

Watch Video Solution

x2 = y

y2 = x

25. The
area (in sq. units) of the quadrilateral formed by the tangents at

the end
points of the latera recta to the ellipse 
 
, is:
(1) 

(2)
18 (3) 
(4) 27

A. 

B. 27

C. 

D. 18

Answer: B

Watch Video Solution

+ = 1
x2

9

y2

5

27

4
27
2

27
2

27
4

https://dl.doubtnut.com/l/_qvybEkF1GEpF
https://dl.doubtnut.com/l/_TTE0RIkRyrqB


26. Tangents are drawn to 
 from the point 
 These

tangents meet the 
 at 
 . If the area of triangle 
 is

minimum, then
 
(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 16 P (0, h).

x − aξs AandB PAB

h = 12√2 h = 6√2 h = 8√2 h = 4√2

4√2

3√3

3√2

4√3

27. If  is the equation of a chord of the circle, 

, then the equation of the circle with this chord as

diameter is:

A. 

y + 3x = 0

x2 + y2 − 30x = 0

x2 + y2 + 3x + 9y = 0

https://dl.doubtnut.com/l/_TTE0RIkRyrqB
https://dl.doubtnut.com/l/_M4K80DiWjf8b
https://dl.doubtnut.com/l/_5tGFvGW7M1EE


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 3x − 9y = 0

x2 + y2 − 3x − 9y = 0

x2 + y2 − 3x + 9y = 0

28. Let C be the circle with centre at (1, 1) and radius
= 1. If T is the circle

centred at (0, y), passing through origin and touching
 the circle C

externally, then the radius of T is equal to
(1) 
(2) 
(3) 
(3) 

A. 

B. 

C. 

D. 

Answer: B

√3

√2

√3

2

1

2

1

4

1
2

1

4

√3

√2
√3
2

https://dl.doubtnut.com/l/_5tGFvGW7M1EE
https://dl.doubtnut.com/l/_3w4UUNT9MAQX


Watch Video Solution

29. The slope of the line touching both the parabolas

 is (a)  (b)  (c)  (d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4x and x2 = − 32y
1
2

3
2

1

8

2

3

1

8

2

3

1
2

3
2

30. The locus of the foot of prependicular drawn from the center of the

ellipse  on any tangent to it is

A. 

x2 + 3y2 = 6

(x2 + y2)
2

= 6x2 + 2y2

https://dl.doubtnut.com/l/_3w4UUNT9MAQX
https://dl.doubtnut.com/l/_sYGHoR5M4cYq
https://dl.doubtnut.com/l/_W0ZJdBfQArAT


B. 

C. 

D. 

Answer: A

Watch Video Solution

(x2 + y2)
2

= 6x2 − 2y2

(x2 − y2)
2

= 6x2 + 2y2

(x2 − y2)
2

= 6x2 − 2y2

31. The circle 
 does not touch or intersect

the coordinate axes, and the point (1, 4) is
inside the circle. Find the range

of value of 

A. (0, 25)

B. (25, 39)

C. (9,25)

D. (25, 29)

Answer: D

x2 + y2 − 6x − 10y + k = 0

k.

https://dl.doubtnut.com/l/_W0ZJdBfQArAT
https://dl.doubtnut.com/l/_5c0yEHpS2fEI


Watch Video Solution

32. Let a & b be any two numbers satisfying .Then, the foot

of the perpendicular from the origin on variable line  lies on

A. a hyperbola with each semi-axis = 

B. a hyperbola with each semi-axis = 2

C. a circle of radius = 2

D. a circle of radius = 

Answer: C

Watch Video Solution

+ =
1

a2

1

b2

1

4

+ = 1
x

a

y

b

√2

√2

33. If the circle whose diameter is the major axis of the ellipse

 meets the minor axis at point P and the

orthocentre of  lies on the ellipse, where  are foci of

the ellipse, then the square of the eccentricity of the ellipse is

+ = 1(a > b > 0)
x2

a2

y2

b2

ΔPF1F2 F1 and F2

https://dl.doubtnut.com/l/_5c0yEHpS2fEI
https://dl.doubtnut.com/l/_ItGrX4jUINeW
https://dl.doubtnut.com/l/_0PjKM0mWOB1E


Exercise 1 Concept Builder Topicwise 1

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

1

√2

1

2√2

1

4

1. If the  of the circle  subtends an angle of

measure  of the major segment of the circle then value of  is -

A. 

B. 

C. 

D. 

y = mx + 1, x2 + y2 = 1

45∘ m

2 ± √2

−2 ± √2

−1 ± √2

−2 ± √2

https://dl.doubtnut.com/l/_0PjKM0mWOB1E
https://dl.doubtnut.com/l/_Oy8JLLqkMk8u


Answer: C

Watch Video Solution

2. Point  relative to the circle is a/an

A. exterior point

B. interior point, but not centre

C. boundary point

D. centre

Answer: A

Watch Video Solution

(1, 2) x2 + y2 + 4x − 2y − 4 = 0

3. Let PQ and RS be tangents at the extremities of the diameter PR of a

circle of radius r. If PS and RQ intersect at a point X on the circumference

of the circle, then 2r equals

https://dl.doubtnut.com/l/_Oy8JLLqkMk8u
https://dl.doubtnut.com/l/_kbRkXvdg6Oap
https://dl.doubtnut.com/l/_PGWQwjKrWQ1F


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√PQ. RS

(PQ + RS)2

2PQ. R
S

PQ + RS

√(PQ2 + RS2)
/ 2

4. Find the equation of the circle having the lines

 as its normal and having size just sufficient to

contain the circle 

A. 

B. 

C. 

D. 

x2 + 2xy + 3x + 6y = 0

x(x − 4) + y(y − 3) = 0

x2 + y2 + 3x − 6y − 40 = 0

x2 + y2 + 6x − 3y − 45 = 0

x2 + y2 + 8x + 4y − 20 = 0

x2 + y2 + 4x + 8y + 20 = 0

https://dl.doubtnut.com/l/_PGWQwjKrWQ1F
https://dl.doubtnut.com/l/_PzTEUcbvzR5H


Answer: B

Watch Video Solution

5. Let A be the centre of the circle  .The

tangents at the points B(1,7) and C(4,-2) on the circle meet at the point D

.If  denotes the area of the quadrilateral ABCD,then  is equal to

A. 150

B. 75

C. 

D. None of these

Answer: B

Watch Video Solution

x2 + y2 − 2x − 4y − 20 = 0

Δ
Δ

25

75/2

https://dl.doubtnut.com/l/_PzTEUcbvzR5H
https://dl.doubtnut.com/l/_yCXph5Dx3DcE


6. The locus of the centre of a circle which touches externally the circle

 and also touches Y-axis, is given by the

equation

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 6x − 6y + 14 = 0

x2 − 6x − 10y + 14 = 0

x2 − 10x − 6y + 14 = 0

y2 − 6x − 10y + 14 = 0

y2 − 10x − 6y + 14 = 0

7. Tangents are drawn from the point (h,k) to ^circle ; Prove

that the area of the triangle formed by them and the straight line joining

their point of contact is 

A. 

x2 + y2 = a2

a(h2 + k2 − a2)
3
2

h2 + k2

(h2 + k2 − a2)
3 / 2

h2 + k2

https://dl.doubtnut.com/l/_f0UDvPutGrNR
https://dl.doubtnut.com/l/_4FIxKOCdT4yT


B. 

C. 

D. 

Answer: A

Watch Video Solution

(h2 + k2 − a2)
1 / 2

h2 + k2

(h2 + k2 − a2)
3 / 2

h2 + k2

(h2 + k2 − a2)
1 / 2

h2 + k2

8. The parametric equations of the circle  are

A. 

B. 

C. x = 0 , y = 0

D. None of the above

Answer: B

Watch Video Solution

x2 + y2 + mx + my = 0

x = − + cos θ, y = + sin θ
m

2
m

√2

m

2
m

√2

x = − + cos θ, y = − + sin θ
m

2
m

√2

m

2
m

√2

https://dl.doubtnut.com/l/_4FIxKOCdT4yT
https://dl.doubtnut.com/l/_YDT6jxgF3YI6


Exercise 1 Concept Builder Topicwise 2

9. If a line segement 
 moves in the plane 
 remaining

parallel to 
 so that the left endpoint 
 slides along the circle 


then the locus of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AM = a XOY

OX A

x2 + y2 = a2, M .

x2 + y2 = 4a2

x2 + y2 = 2ax

x2 + y2 = 2ay

x2 + y2 − 2ax − 2ay = 0

1. The point  (where [.] denotes the greatest integer function),

lyinginside the region bounded by the circle

 then :

(
P + 1

P
)

x2 + y2 − 2x − 15 = 0 and x2 + y2 − 2x − 7 = 0,

https://dl.doubtnut.com/l/_izDp9oSSfrhP
https://dl.doubtnut.com/l/_Mp5L0tdYLjzM


A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

P ∈ [ − 1, 0) ∪ [0, 1) ∪ [1, 2)

P ∈ [ − 1, 2) − {0, 1}

P ∈ ( − 1, 2)

2. If two circles  and 

 to be cut orthogonally then

show that :

A. 

B. 

C. 

D. 

S1 = x2 + y2 + 2gx + 2fy + c = 0

S2 = x2 + y2 + 2g' x + 2f' y + c' = 0

2gg' + 2ff' = c + c'

2g1g2 + 2f1f2 = c1 + c2

2g1g2 − 2f1f2 = c1 + c2

2g1g2 + 2f1f2 = c1 − c2

2g1g2 − 2f1f2 = c1 − c2

https://dl.doubtnut.com/l/_Mp5L0tdYLjzM
https://dl.doubtnut.com/l/_yTDGAzxTXbar


Answer: A

Watch Video Solution

3. The chord of contact of tangents from a point 
 to a circle passes

through 
If 
are the length of the tangents from 
to the

circle, then 
 is equal to 
 (b) 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P

Q. l1andl2 PandQ

PQ
l1 + l2

2
l1 − l2

2
√l12 + l22

2√l12 + l22

l1 + l2
2

l1 − l2
2

√l21 + l21

√l1l2

https://dl.doubtnut.com/l/_yTDGAzxTXbar
https://dl.doubtnut.com/l/_6Z8j9AqMWOJC


4. If the circles  bisects 

 then the length of the common chord

of these two circles is -

A. 2g'(g-g')+2f'(f-f')=c-c'

B. 2g(g-g')+2f(f-f')=c-c'

C. g'(g-g')+f'(f-f')=c-c'

D. None of these

Answer: A

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2g' x + 2f' y + c' = 0

5. Let number of points of intersection and number of common tangents

of two circles  and 

 be m and n respectively. Which of the

following is/are

x2 + y2 − 6x − 2y + 1 = 0

x2 + y2 + 2x − 6y + 9 = 0

https://dl.doubtnut.com/l/_GC3HmgL3vmnv
https://dl.doubtnut.com/l/_NhdZtchy5m4N


A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

6. If the equation represents the equation of

common chord APQB of the circles  and 

then AP is equal to 

A. 

B. 

C. 

D. 

x cos θ + y sin θ = p

x2 + y2 = a2

x2 + y2 = b2(a > b) :

√a2 + p2 + √b2 + p2

√a2 − p2 + √b2 − p2

√a2 − p2 − √b2 − p2

√a2 + p2 − √b2 + p2

https://dl.doubtnut.com/l/_NhdZtchy5m4N
https://dl.doubtnut.com/l/_4FpxeaIqtbfy


Answer: C

Watch Video Solution

7. Consider
 a family of circles which are passing through the point


 and are tangent to x-axis. If (h, k) are the
 co-ordinates of the

centre of the circles, then the set of values of k is
given by the interval
(1)


(2) 
(3) 
(4) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 1, 1)

0 < k < k ≥ ≺ = k ≤ k ≤

− ≤ k ≤
1

2

1

2

k ≤
1

2

0 ≤ k ≤
1

2

k ≥
1

2

https://dl.doubtnut.com/l/_4FpxeaIqtbfy
https://dl.doubtnut.com/l/_Uuv6f0NzaC0g
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1. If the ends of a focal chord of the parabola  are  and 

, then  is equal to

A. 12

B. 20

C. 0

D. -12

Answer: D

Watch Video Solution

y2 = 8x (x1, y1)

(x2, y2) x1x2 + y1y2

2. The point  lies inside the region bounded by the parabola 

 and its latus rectum. Then,

A. 

(2a, a)

x2 = 4y

0 ≤ a ≤ 1

https://dl.doubtnut.com/l/_PO6ofHdWsgSr
https://dl.doubtnut.com/l/_RCLGoHeczrmJ


B. 

C. 

D. 

Answer: B

Watch Video Solution

0 < a < 1

a > 1

a < 1

3. Find the equation of the lines joining the vertex
 of the parabola


to the point on it which have abscissa 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 6x 24.

y ± 2x = 0

2y ± x = 0

x ± 2y = 0

2x ± y = 0

https://dl.doubtnut.com/l/_RCLGoHeczrmJ
https://dl.doubtnut.com/l/_tI6lEQeK1wrU


4. The one end of the latus rectum of the parabola 

is at

A. (0, -1)

B. (0, 1)

C. (0, -3)

D. (3,0)

Answer: A

Watch Video Solution

y2 − 4x − 2y– 3 = 0

5. If the focal distance of a point on the parabola 

 is 4, then its ordinate can be

A. 

B. 

y2 = 8x

±1

±2

https://dl.doubtnut.com/l/_tI6lEQeK1wrU
https://dl.doubtnut.com/l/_k4A2Hsb9wHqi
https://dl.doubtnut.com/l/_8AFVVEvKqr6F


C. 

D. 

Answer: D

Watch Video Solution

±3

±4

6. The equation of parabola whose vertex and focus lie on the axis of x at

distances a and  from the origin respectively, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a1

y2 = 4(a1 − a)(x − a)

y2 = 4(a1 − a)(x − a1)

y2 = 4(a − a1)(x − a1)

y2 = 4(a − a1)(x − a)

https://dl.doubtnut.com/l/_8AFVVEvKqr6F
https://dl.doubtnut.com/l/_OjXXSQHuIACg
https://dl.doubtnut.com/l/_GwYpoOUSbZiA


7. The locus of the vertices of the family of parabolas

 is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = + − 2a
a3x2

3

a2x

2

xy =
105

64

xy =
3

4

xy =
35

16

xy =
64
105

8. Find the point on the
parabolas 
which is closest to the
point 


.

A. 

B. 

C. 

x2 = 2y

(0,  5)

( ± 2√2, 4)

( ± 2, 2)

( ± 3, 9/2)

https://dl.doubtnut.com/l/_GwYpoOUSbZiA
https://dl.doubtnut.com/l/_Txq0Qa0QsKqW


D. 

Answer: A

Watch Video Solution

( ± √2, 1)

9. A point p is such that the sum of squares of its distance from the axes

of coordinates is equal to the square of its distance from the line

. Find the locus of P

A. a straight line at right angle to the given line

B. a circle concentric with the given circle

C. a parabola with its axis parallel to the given line

D. a parabola with its axis perpendicular to the given line

Answer: D

Watch Video Solution

x − y = 1

https://dl.doubtnut.com/l/_Txq0Qa0QsKqW
https://dl.doubtnut.com/l/_2Md5jHIpm70w
https://dl.doubtnut.com/l/_bm6HoE7FKooA
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10. Find the value of 
 such that the vertex of 
 is 4

units above the x-axis.

A. 2

B. 

C. 5

D. 

Answer: D

Watch Video Solution

P y = x2 + 2px + 13

±4

±3

1. find the common tangents of the circle  and the

parabola

A. 

B. 

x2 + y2 = 2a2

y2 = 8ax

x = ± (y + 2a)

y = ± (x + 2a)

https://dl.doubtnut.com/l/_bm6HoE7FKooA
https://dl.doubtnut.com/l/_yOiSqUmyUtpL


C. 

D. 

Answer: B

Watch Video Solution

x = ± (y + a)

y = ± (x + a)

2. The normal at the point  on the parabola  meets

the parabola again in the point  then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(bt2
1, 2bt1) y2 = 4bx

(bt2
2, 2bt2, )

t2 = t1 +
2

t1

t2 = − t1 −
2

t1

t2 = − t1 +
2

t1

t2 = t1 −
2

t1

https://dl.doubtnut.com/l/_yOiSqUmyUtpL
https://dl.doubtnut.com/l/_AOorowpyHy8a
https://dl.doubtnut.com/l/_T9JnBVgvGY1Y


3. The length of the chord of the parabola  passing through the

vertex and having slope cot  is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

x2 = 4y

α

4 cosα cos ec2α

4 tanα secα

4 sinα sec2 α

4. Prove that the equation of the parabola whose focus is (0, 0) and

tangent at the vertex is is 

.

A. 

B. 

x − y + 1 = 0

x2 + y2 + 2xy − 4x + 4y − 4 = 0

x2 + y2 + 2xy − 4x + 4y − 4 = 0

x2 − 4x + 4y − 4 = 0

https://dl.doubtnut.com/l/_T9JnBVgvGY1Y
https://dl.doubtnut.com/l/_EEK9agdZm2dl


C. 

D. 

Answer: A

Watch Video Solution

y2 − 4x + 4y − 4 = 0

2x2 + 2y2 − 4xy − x + y − 4 = 0

5. If a chord which is normal to the parabola at one end subtend a right

angle at the vertex, then angle to the axis is

A. 1

B. -2

C. 

D. 

Answer: C

Watch Video Solution

√2

1

√2

https://dl.doubtnut.com/l/_EEK9agdZm2dl
https://dl.doubtnut.com/l/_O0vmcpEZ4Wpu
https://dl.doubtnut.com/l/_jPlH5mBGf0jM


6. PN is any ordinate of the parabola  , the point M divides PN in

the ratio m: n . Find the locus of M .

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

y2 = 4ax

y2 = (m− − m− )
2
ax

1
2

1
2

y2 = (m− + m− )
2
ax

1
2

1
2

y2 = (m− − m− )
2
a

1
2

1
2

7. the tangent drawn at any point  to the parabola  meets the

directrix at the point  Then the angle which  subtends at the focus

is

A. 

B. 

P y2 = 4ax

K. KP

π

4

π

3

https://dl.doubtnut.com/l/_jPlH5mBGf0jM
https://dl.doubtnut.com/l/_59bOI36ROtIb


C. 

D. 

Answer: C

Watch Video Solution

π

2

2π

2

8. Two parabolas  always touch

each other (  being variable parameters). Then their point of contact

lies on a

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

y2 = 4a(x − λ1) and x2 = 4a(y − λ2)

λ1, λ2

xy = a2

xy = 2a2

xy = 4a2

https://dl.doubtnut.com/l/_59bOI36ROtIb
https://dl.doubtnut.com/l/_XERFD2mMtLTL
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9. Three normals to the parabola  are drawn through a point 

 then C=

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

y2 = x

(C, O)

C =
1

4

C =
1

2

C ≥
1

2

1. The ellipse 
 is inscribed
 in a rectangle aligned with the

coordinate axes, which in turn is inscribed
in another ellipse that passes

through the point (4, 0). Then the equation of
 the ellipse is
 (1)

x2 + 4y2 = 4

https://dl.doubtnut.com/l/_XERFD2mMtLTL
https://dl.doubtnut.com/l/_PtlUqGJQyoTY
https://dl.doubtnut.com/l/_MqBvOv2GMTEc



 (2) 
 (3) 
 (4) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + 16y2 = 16 x2 + 12y2 = 16 4x2 + 48y2 = 48

4x2 + 64y2 = 48

x + 12y2 = 16

4x2 + 48y2 = 48

4x2 + 64y2 = 49

x2 + 16y2 = 16

2. An ellipse has 
 as the
 semi-minor axis, 
 as its
 foci, and 


a right angle. Then, find the eccentricity of the ellipse.

A. 

B. 

C. 

OB FandF '

∠FBF '

1

√2

1

2

1

4

https://dl.doubtnut.com/l/_MqBvOv2GMTEc
https://dl.doubtnut.com/l/_eEZUJslQ6sEU


D. 

Answer: A

Watch Video Solution

1

√3

3. The curve represented by

 is

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: C

Watch Video Solution

x = 2(cos t + sin t) and y = 5(cos t − sin t)

https://dl.doubtnut.com/l/_eEZUJslQ6sEU
https://dl.doubtnut.com/l/_JdSu8vsTdHmR


4. If a point P(x, y) moves along the ellipse  and if C is the

centre of the ellipse, then, 4 max {CP) + 5 min {CP}=

A. 25

B. 40

C. 45

D. 54

Answer: B

Watch Video Solution

+ = 1
x2

25

y2

16

5. If the focal distance of an end of the minor axis
of an ellipse (referred

to its axes as the axes of 
 , respectively) is 
 and the
 distance

between its foci is 
them find its equation.

A. 

B. 

xandy k

2h,

+ = 1
x2

k2

y2

k2 + h2

+ = 1
x2

k2

y2

h2 − k2

https://dl.doubtnut.com/l/_Ds9i988GdHnW
https://dl.doubtnut.com/l/_cjYxPYCBGKTb


C. 

D. 

Answer: C

Watch Video Solution

+ = 1
x2

k2

y2

k2 − h2

+ = 1
x2

k2

y2

h2

6. A man running a racecourse notes that the sum of the distances
from

the two flag posts from him is always 10 m and the distance between the

flag posts is 8 m. Find the equation of the posts traced by the man.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

25

y2

9

x2 + y2 = 25

x2 + y2 = 9

+ = 1
x2

9

y2

25

https://dl.doubtnut.com/l/_cjYxPYCBGKTb
https://dl.doubtnut.com/l/_YBvUcceEyhGQ


7. The parametric form of the ellipse  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4(x + 1)2 + (y − 1)2 = 4

x = cos θ − 1, y = 2 sin θ − 1

x = 2 cos θ − 1, y = 2 sin θ + 1

x = cos θ − 1, y = 2 sin θ + 1

x = cos θ + 1, y = 2 sin θ + 1

8. Eccentricity of ellipse whose equation is 

x=3 (cos t + sin t), y = 4 (cos t - sin t) where t is parameter is

A. 

B. 

C. 

1/2

1/√3

√7/4

https://dl.doubtnut.com/l/_YBvUcceEyhGQ
https://dl.doubtnut.com/l/_kiUaZMS0lZP7
https://dl.doubtnut.com/l/_ANGvwc61vuSC
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D. 

Answer: C

Watch Video Solution

2/√3

9. If 
 and 
 ,

then 
equal
8 (b)
6 (c) 10
(d) 12

A. 8

B. 6

C. 10

D. 12

Answer: C

Watch Video Solution

P = (x, y), F1 = (3, 0), F2 = ( − 3, 0), 16x2 + 25y2 = 400

PF1 + PF2

https://dl.doubtnut.com/l/_ANGvwc61vuSC
https://dl.doubtnut.com/l/_UISUY7yhp7Mv


1. If the chords of contact of tangents from two
 poinst 
 and 


 to the
 ellipse 
 are at
 right angles, then find the

value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x1, y1)

(x2, y2) + = 1
x2

a2

y2

b2

.
x1x2

y1y2

a4

b4

b4

a4

−
a4

b4

−
b4

a4

2. If p is the length of the perpendicular from the focus S of the ellipse

 to a tangent at a point P on the ellipse, then 

A. 

B. 

+ = 1
x2

a2

y2

b2
− 1 =

2a

SP

a2

p2

b2

p2

https://dl.doubtnut.com/l/_LHqu2drXd3hr
https://dl.doubtnut.com/l/_puT4CSOHLl6q


C. 

D. 

Answer: B

Watch Video Solution

p2

a2 + b2

p2

3. Let d be the perpendicular distance from the centre of the ellipse

 to the tangent drawn at a point P on the ellipse. If 

are the two foci of the ellipse, then show the

.

A. 

B. 

C. 

D. 

Answer: A

+ = 1
x2

a2

y2

b2
F1&F2

(PF1 − PF2)2 = 4a2[1 − ]
b2

d2

4a2(1 − )
b2

d2

a2(1 − )
b2

d2

4b2(1 − )
a2

d2

b2(1 − )
a2

d2

https://dl.doubtnut.com/l/_puT4CSOHLl6q
https://dl.doubtnut.com/l/_OOFsBSD213bl


Watch Video Solution

4. The sum of the squares of the perpendiculars on any tangents to the

ellipse 
 from two points on the minor axis each at a

distance 
from the center is
 
(b) 
(c) 


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

a2

y2

b2

ae 2a2 2b2 a2 + b2 a2 − b2

2a2

2b2

a2 + b2

a2 − b2

5. If the chords of contact of tangents from two points  and 

to the ellipse  are perpendicular, then  =

(α, β) (γ, δ)

+ = 1
x2

5

y2

2

αγ

βδ

https://dl.doubtnut.com/l/_OOFsBSD213bl
https://dl.doubtnut.com/l/_O746r2Pu2i0B
https://dl.doubtnut.com/l/_A45TWF4fLUA8


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4
25

−
4
25

25

4

−
25

4

6. Which one of the following points lies outside the ellipse

?

A. (a, 0)

B. (b, 0)

C. (-a, 0)

D. (a, b)

Answer: D

(x2 /a2) + (y2 /b2)

https://dl.doubtnut.com/l/_A45TWF4fLUA8
https://dl.doubtnut.com/l/_O2TjVeHpK0RF
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Watch Video Solution

1. It the eccentricity of the hyerbola 

 is  time the eccentricity of the ellipse 

, then  is equal to :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − y2 cos ce2α = 25 √5

x2 cos ce2α + y2 = 5 α

tan− 1 √2

sin− 1 √
3

4

tan− 1 √
2

5

sin− 1 √
2

5

2. The vertices of the hyperbola  are9x2 − 16y2 − 36x + 96y − 252 = 0

https://dl.doubtnut.com/l/_O2TjVeHpK0RF
https://dl.doubtnut.com/l/_bOA2ZVlhwFvG
https://dl.doubtnut.com/l/_2xqsnGCKjknZ


A. (6,3), (-2,3)

B. (6,3),(-6,3)

C. (-6,3),(-6,-3)

D. (2,3),(-2,3)

Answer: A

Watch Video Solution

3. If the foci of the ellipse 
 and the hyperbola 


coincide write the value of 

A. 9

B. 1

C. 5

D. 7

Answer: D

+ = 1
x2

16

y2

b2

− =
x2

144

y2

81

1

25
b2.

https://dl.doubtnut.com/l/_2xqsnGCKjknZ
https://dl.doubtnut.com/l/_9oAl5OGvSmPZ


Watch Video Solution

4. The eccentricity of the hyperbola canjugate to

 is

A. 3

B. 2

C. 

D. 

Answer: B

Watch Video Solution

(x − 1)2 − 3(y − 1)2 = 1

2

√3

3

2

5. If the eccentricity of the hyperbola  is  time the

eccentricity of the ellipse , then the volue of  equal

A. 

x2 − y2 sec2 θ = 4 √3

x2 sec2 θ + y2 = 16 θ

π

6

https://dl.doubtnut.com/l/_9oAl5OGvSmPZ
https://dl.doubtnut.com/l/_UEzQ7A8nddhd
https://dl.doubtnut.com/l/_iTm5EJc8ESHb


B. 

C. 

D. 

Answer: B

Watch Video Solution

3π

4

π

3

π

2

6. A hyperbola, having the transverse axis of length 2 , is confocal

with the ellipse . Then its equation is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin θ

3x2 + 4y2 = 12

x2 + sec2 θ − y2 sec2 tê = 1

x2 sec2 θ − y2 cos ec2θ = 1

x2 sin2 θ − y2 cos2 θ = 1

x2 cos2 θ − y2 sin2 θ = 1

https://dl.doubtnut.com/l/_iTm5EJc8ESHb
https://dl.doubtnut.com/l/_GZKpJO0uVd2L


7. If  is the eccentricity of the ellipse  is the

eccentricity of the hyperbola passing through the foci of the ellipse and

, then equation of the hyperbola is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

e1 + = 1 and e2
x2

16

y2

25

e1e2 = 1

− = 1
x2

9

y2

16

− = − 1
x2

9

y2

16

− = − 1
x2

9

y2

25

− = 1
x2

9

y2

36

8. Which of the following is INCORRECT for the hyperbola

A. Its eccentricity is 

x2 − 2y2 − 2x + 8y − 1 = 0

√2

https://dl.doubtnut.com/l/_GZKpJO0uVd2L
https://dl.doubtnut.com/l/_TJwBFZF1EcGA
https://dl.doubtnut.com/l/_dQt9KHQEUTUk


B. Length of the transverse axis is 

C. Length of the conjugate axis is 

D. Latus rectum is 

Answer: A

Watch Video Solution

2√3

2√6

4√3

9. Find the equation of the hyperbola whose diretrix is  focus

(1, 2) and eccentricity .

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

2x + y = 1,

√3

7x2 − 2y2 + 12xy − 2x + 14 − 22 = 0

5x2 − 2y2 + 10xy + 2x + 5y − 20 = 0

4x2 + 8y2 + 8xy + 2x − 2y + 10 = 0

https://dl.doubtnut.com/l/_dQt9KHQEUTUk
https://dl.doubtnut.com/l/_Bf0heylQTcAn
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1. Let  (where  be

two points on the hyperbola  If  is the point of

intersection of the normals at  then  is equal to (A) 

(B)  (C)  (D) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P (a secθ, b tan θ) and Q(a sec cϕ, b tanϕ) θ + ϕ =
π

2

− = 1
x2

a2

y2

b2
(h, k)

P and Q k
a2 + b2

a

−( )
a2 + b2

a

a2 + b2

b
−( )

a2 + b2

b

a2 + b2

a

−( )
a2 + b2

a2

−
a2 + b2

b

−( )
a2 + b2

b

https://dl.doubtnut.com/l/_Bf0heylQTcAn
https://dl.doubtnut.com/l/_xHG2L43pNyfV


2. Tangents at any point on the hyperbola  cut the axes at

A and B respectively, If the rectangle at OAPB (where O is origin) is

completed then locus of point P is given by

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

− = 1
x2

a2

y2

b2

− = 1
a2

x2

b2

y2

+ = 1
a2

x2

b2

y2

− = 1
a2

y2

b2

x2

3. The two conics  and  intersect if and only if

A. 

B. 

C. 

− = 1
y2

b2

x2

a2
y2 = − x

b

a

0 < a ≤
1

2

0 < b ≤
1

2

b2 > a2

https://dl.doubtnut.com/l/_dVyRPkZq929j
https://dl.doubtnut.com/l/_Zq8P6DnbxxlM


D. 

Answer: B

Watch Video Solution

b2 < a2

4. If  is the chord of contact of the hyperbola  then the

equation of the corresponding pair of tangents is (A)

 (B)  (C)

 (D) 9x^2-8y^2+18x+9=0`

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 9 x2 − y2 = 9

9x2 − 8y2 + 18x − 9 = 0 9x2 − 8y2 − 18x + 9 = 0

9x2 − 8y2 − 18x − 9 = 0

9x2 − 8y2 + 18x − 9 = 0

9x2 − 8y2 − 18x + 9 = 0

9x2 − 8y2 − 18x − 9 = 0

9x2 − 8y2 + 18x + 9 = 0

https://dl.doubtnut.com/l/_Zq8P6DnbxxlM
https://dl.doubtnut.com/l/_7e16lhyrLPV2


5. The value of m, for wnich the line  is a normal to the

conic  , IS

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

y = mx + 25
√3

3

− = 1
x2

16

y2

9

−
2

√3

√3

√3
2

6. If the circle 
 intersects the hyperbola 
 at four

points 
 and 
 then


 


A. 

x2 + y2 = a2 xy = c2

P (x1, y1), Q(x2, y2), R(x3, y3), S(x4, y4),

x1 + x2 + x3 + x4 = 0 y1 + y2 + y3 + y4 = 0 x1x2x3x4 = C 4

y1y2y3y4 = C 4

x1 + x2 + x3 + x4 = 0

https://dl.doubtnut.com/l/_LZdN5oqhxdQz
https://dl.doubtnut.com/l/_HAHdaYkxWpDc


Exercise 2 Concept Applicator

B. 

C. 

D. 

Answer: A

Watch Video Solution

y1 + y2 + y3y4 = 2

x1x2x3x4 = 2c4

y1y2y3y4 = 2c4

1. A circle , of radius  touches both -axis and - axis. Another circle 

whose radius is greater than  touches circle and both the axes. Then the

radius of circle is

A. 

B. 

C. 

D. 

C1 2 x y C1

2

6 − 4√2

6 + 4√2

6 − 4√3

6 + 4√3

https://dl.doubtnut.com/l/_HAHdaYkxWpDc
https://dl.doubtnut.com/l/_WY96kqDSJHXH


Answer: B

Watch Video Solution

2. The equation of tangents drawn from the origin to the circle

 are:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 2rx − 2hy + h2 = 0

x = 0, y = 0

x = 1, y = 0

(h2 − r2)x − 2rhy = 0, y = 0

(h2 − r2)x − 2rhy = 0, x = 0

3. Let AB be a chord of the circle  subtending a right angle

at the centre.Then,the locus of the centroid of the  as P moves on

x2 + y2 = r2

ΔPAB

https://dl.doubtnut.com/l/_WY96kqDSJHXH
https://dl.doubtnut.com/l/_7KppJ4MlhV8h
https://dl.doubtnut.com/l/_8lmbhTrc1Eby


the circle, is 

A. a parabola

B. a circle

C. an ellipse

D. a pair of straight lines

Answer: B

Watch Video Solution

:

4. The line joining  to  is divided internally in the

ratio  at P then the locus of P is

A. a pair of straight lines

B. a circle

C. a straight line

D. None of these

(5, 0) (10 cos θ, 10 sin θ)

2: 3

https://dl.doubtnut.com/l/_8lmbhTrc1Eby
https://dl.doubtnut.com/l/_mlSt4QhTAXLL


Answer: B

Watch Video Solution

5. Four distinct points (2k,3k) , (1,0), (0,1) and (0,0) lies on a circle for-

A. only one value of k

B. 

C. 

D. all integral values of k

Answer: A

Watch Video Solution

0 < K < 1

k < 0

6. The number of integral values of 
 for which the equation


 is the equation fo a circle whose

radius cannot
exceed 
is
14
(b) 18 (c) 16 (d) none of these

λ

x2 + y2 + λx + (1 − λ)y + 5 = 0

5,

https://dl.doubtnut.com/l/_mlSt4QhTAXLL
https://dl.doubtnut.com/l/_2lhjMWdropVE
https://dl.doubtnut.com/l/_EUANxb2Q0n6a


A. 14

B. 18

C. 16

D. None of these

Answer: C

Watch Video Solution

7. The cable of a uniformly loaded suspension bridge hangs in the
form of

a parabola. The roadway which is horizontal and 100 m long is
supported

by vertical wires attached to the cable, the longest wire being 30
m and

the shortest being 6 m. Find t

A. 10.02 m

B. 9.11 m

C. 10.76m

D. 12.06m

https://dl.doubtnut.com/l/_EUANxb2Q0n6a
https://dl.doubtnut.com/l/_aQFD5g6oW25s


Answer: B

Watch Video Solution

8. If from any point P, tangents PT, PT' are drawn to two given circles with

centres A and B respectively, and if PN is the perpendicular from P on

their radical axis, then  =

A. PN. AB

B. 2PN. AB

C. 4PN. AB

D. None of these

Answer: B

Watch Video Solution

PT 2– PT '
2

https://dl.doubtnut.com/l/_aQFD5g6oW25s
https://dl.doubtnut.com/l/_LlNu2ifRP6Ho


9.  is a chord of the circle , then the equation

of a circle with this chord as diameter is

A. 4

B. 2

C. 6

D. 0

Answer: C

Watch Video Solution

y = 2x x2 + y2 − 10x = 0

10. If  and the line  passes through the points

of intersection of the parabola  and , then

A. 

B. 

C. 

a ≠ 0 2bx + 3cy + 4d = 0

y2 = 4ax x2 = 4ay

d2 + (3b − 2c)2 = 0

d2 + (3b + 2c)2 = 0

d2 + (2b + 3c)2 = 0

https://dl.doubtnut.com/l/_DsV9FH3liNM6
https://dl.doubtnut.com/l/_LIjWfXGEfS5l


D. 

Answer: D

Watch Video Solution

d2 + (2b + 3c)2 = 0

11. Q57) If the circle

intersect at two distinct points Pand Q, then the line 5x+by-a=0 will pass

through P and Q for A. No values of a B. Exactly one value of a C. Exactly

two values of a D. Infinitely many value of a

A. exactly one value of a

B. no value of a

C. infinitely many values of a

D. exactly two values of a

Answer: B

Watch Video Solution

x2 + y2 + 2ax + cy + a = 0 and x2 + y2 − 3ax + dy − 1 = 0

https://dl.doubtnut.com/l/_LIjWfXGEfS5l
https://dl.doubtnut.com/l/_fjXaQsf3oupI


12. A rod AB of length 15 cm rests in between two coordinate axes in
such

a way that the end point A lies on x-axis and end point B lies on
y-axis. A

point P(x, y) is taken on the rod in such a way that AP = 6 cm.
 Show that

the locus of P is an ellip

A. circle

B. ellipse

C. parabola

D. hyperbola

Answer: B

Watch Video Solution

13. Find the area of the triangle formed by the lines joining the vertex of

the parabola  to the ends of its latus rectumx2 = 12y

https://dl.doubtnut.com/l/_fjXaQsf3oupI
https://dl.doubtnut.com/l/_g9IMY9TqrTep
https://dl.doubtnut.com/l/_pdK1V0tgBiI7


A. 9 square units

B. 12 square units

C. 14 square units

D. 18 square units

Answer: D

Watch Video Solution

14. The eccentricities of the ellipse  and 

 are equal. Which one of the following is correct?

A. 

B. 

C. 

D. 

Answer: C

+ = 1, α > β
x2

α2

y2

β2

+ = 1
x2

9

y2

16

4α = 3β

αβ = 12

4β = 3α

9α = 16β

https://dl.doubtnut.com/l/_pdK1V0tgBiI7
https://dl.doubtnut.com/l/_6m0V2fT9zJGb


Watch Video Solution

15. The middle point of chord  of the conic 

 is

A. (5, -1)

B. (1, 1)

C. (2, 0)

D. (-1, 1)

Answer: D

Watch Video Solution

x + 3y = 2

x2 + xy − y2 = 1,

16. If  and  cut at right angles, then:

A. 

B. 

+ = 1(a > b)
x2

a2

y2

b2
x2 − y2 = c2

a2 + b2 = 2c2

b2 − a2 = 2c2

https://dl.doubtnut.com/l/_6m0V2fT9zJGb
https://dl.doubtnut.com/l/_tKSeQMEV0kaQ
https://dl.doubtnut.com/l/_54b4qJH2pRRB


C. 

D. 

Answer: C

Watch Video Solution

a2 − b2 = 2c2

a2 − b2 = c2

17. If the line  touches the parabola  then

the ponit of contact is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + my + am2 = 0 y2 = 4ax

( − am2, 2am)

( − am2, − 2am)

(am2, − 2am)

(am2, 2am)

https://dl.doubtnut.com/l/_54b4qJH2pRRB
https://dl.doubtnut.com/l/_ByTSr2IPJRLt
https://dl.doubtnut.com/l/_dVp42DfR5S4j


18. The equation of the conic with focus at  directrix along 

 and with eccentricity  is

A. 

B. xy = 1

C. 2xy - 4x + 4y + 1 =0

D. 2xy + 4x - 4y - 1 = 0

Answer: C

Watch Video Solution

(1, − 1),

x − y + 1 = 0 √2,

x2 − y2 = 1

19. The equation of one of the common tangent to the parabola 

and  is

A. y = - x + 2

B. y = x - 2

C. y = x + 2

y2 = 8x

x2 + y2 − 12x + 4 = 0

https://dl.doubtnut.com/l/_dVp42DfR5S4j
https://dl.doubtnut.com/l/_pTzETZtkddH6


D. None of these

Answer: C

Watch Video Solution

20. If two circles  and 

 intersect in two distinct points , then

A. 

B. 

C. 

D. r = 2

Answer: B

Watch Video Solution

(x − 1)2 + (y − 3)2 = r2

x2 + y2 − 8x + 2y + 8 = 0

r > 2

2 < r < 8

r < 2

https://dl.doubtnut.com/l/_pTzETZtkddH6
https://dl.doubtnut.com/l/_DFpztPvFspBv


21. The number of points of intersection of the two curves

 is

A. 0

B. 1

C. 2

D. intinite

Answer: A

Watch Video Solution

y = 2 sinx and y = 5x2 + 2x + 3

22. The equation of the ellipse with its centre at (1, 2), focus at (6, 2) and

passing through the point (4 ,6) is  then

A. 

B. 

C. 

+ = 1,
(x − 1)

2

a2

(y − 2)
2

b2

a2 = 1, b2 = 25

a2 = 25, b2 = 20

a2 = 20, b2 = 25

https://dl.doubtnut.com/l/_z8iwoeljzovU
https://dl.doubtnut.com/l/_B668V9RZeEt8


D. None of these

Answer: D

Watch Video Solution

23. A normal chord of the parabola  subtends a right angle at

the vertex if its slope is

A. 1

B. -2

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

√2

1

√2

https://dl.doubtnut.com/l/_B668V9RZeEt8
https://dl.doubtnut.com/l/_sQ3bUTg5EXeI


24. Area of the greatest rectangle that can be inscribed in the ellipse

 is

A. ab

B. 2ab

C. 

D. 

Answer: B

Watch Video Solution

+ = 1
x2

a2

y2

b2

ab/2

√ab

25. The line ax + by = 1 cute ellipse  only once if

A. 

B. 

C. 

cx2 + dy
2 = 1

ca2 + db2 = 1

+ = 1
c

a2

d

b2

+ = 1
a2

c

b2

d

https://dl.doubtnut.com/l/_Uewh1Gk5A8YC
https://dl.doubtnut.com/l/_0h15s58YY291


D. 

Answer: C

Watch Video Solution

ac2 + bd2 = 1

26. The line passing through the extremity 
 of the major exis and

extremity 
 of the minor axis of the ellipse 
 meets is

auxiliary circle at the point 
Then the area of the triangle with vertices

at 
and 
(the origin) is
31/10 (b) 29/10 (c) 21/10
(d) 27/10

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A

B x2 + 9y2 = 9

M .

A, M, O

31

10

29

10

21

10

27
10

https://dl.doubtnut.com/l/_0h15s58YY291
https://dl.doubtnut.com/l/_weUy4nDeYQRb


27. The locus of he middle points of the chords of the ellipse

 which are at a constant disance 'd' form the cantre is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

+ = 1
x2

a2

y2

b2

( + )
2

= d2( − )
x2

a2

y2

b2

x2

a2

y2

b2

( + )
2

= d2( + )
x2

a2

y2

b2

x2

a4

y2

b4

( − )
2

= d2( + )
x2

a2

y2

b2

x2

a4

y2

b4

28. Find the equation of the normal to the ellipse 
 at the

positive end of the latus rectum.

A. 

B. 

+ = 1
x2

a2

y2

b2

x + ey − ae3 = 0

x − ey + ae3 = 0

https://dl.doubtnut.com/l/_mkfYu3eDXIDm
https://dl.doubtnut.com/l/_TPyJsa65MHlw


C. 

D. 

Answer: C

Watch Video Solution

x − ey − ae3 = 0

x + ey + ae3 = 0

29. If the line  touches the hyperbola 

 at the point , then find  .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = mx + √a2m2 − b2

− = 1
x2

a2

y2

b2
(a secθ, b tan θ) θ

sin− 1
m

sin− 1( )
a

bm

sin− 1( )
b

am

sin− 1( )
bm

a

https://dl.doubtnut.com/l/_TPyJsa65MHlw
https://dl.doubtnut.com/l/_QJPZqWCdAfAT
https://dl.doubtnut.com/l/_DdOvfuNMqvHD


30. The length of the transverse axis of a hyperbola, 2 cos0. the foci of the

hyperbola are the same as that of the ellips `9x^(2)+16y^(2)=144. the

equation of the hypperbola is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

− = 1
x2

cos2 α

y2

7 − cos2 α

− = 1
x2

cos2 α

y2

7 + cos2 α

− = 1
x2

1 + cos2 α

y2

7 + cos2 α

− = 1
x2

1 + cos2 α

y2

7 − cos2 α

https://dl.doubtnut.com/l/_DdOvfuNMqvHD

